11.1-11.4

Wednesday, March 16, 2022 2:15 PM
Defn: o Let T € To,i7 -
I+: {0? 9] s_aé EO,\j\ J: Smo;f)a\{-g. Q%I'}

¢ LT, (F) = LT (1, M) = flk (oA, M) ) 008) e dimn
Cooff (&) & T
M = Ebb ﬂ-&[v\‘safﬁ

Tham (o1 \\ACLM/\\ALM'\'M\ Po(n{-c 56 (LT in M 0 = LLT in dam n-|”’

TC [o,1 st. - T=T,
e | i3 Hua foahd accum - pt. ai T
Then

Accum - pts 91) LCT (D) = LeT, (D - 1%
In Porh’w\ar, Tc Q = Acum. FR S @

Pl cketcht v Given X/ D), woant b IOV V2L SO S P "JE et .
e Show {let’sd = TNumeriedly drivial  Heesholds

N
\ N'\ L‘_:) ]

o Con aSSwmne (X;,2) s log €7, lc, ond'coh've
e Mot (AJ wse  indmch on  either Lua aﬂﬁbd\ra; O\J\om(ﬂjm
oy \9&3 “(memﬁ MMP  od (e, ‘aking gen-: 6-41?4\'

Z)

D%‘-ﬂ I e D(T) = %619[ [ o= """l’"% | Mé‘,”\ll téI_,_}

e Fix ce o]
D.() = {acl [ a= motifrke |, memN, fel, keN] €D(I0ES3)

d QH(I/ c_) = { (X/A> [O% CY ’ [ P EYOL__—‘MJ"‘VL O‘ dipn n s-t.
A- B+ C
J
b O Ia D@4 o



« NA(T) = {Cé ro,l] l 'V[n(I)C) vvon-am[)’h'j}

Lemma |[I2 0 (0 LCT,(Z) ¢ LCT_,, (L)
(2) N,(I) ¢ N, (ED
() JveI,r , ke N - Then
c: lf e N, (T)
Kk

E{?‘. (f') Given (X/A> °§ dimn n (x xC,AxC) L.a{ conooflh  cwrve C
let CX,A9M) _ ek CxXxC, DxCy Mx C)

= LeT, (D) o T, ()

(2)  Some Woo{) wovK(C -

Tele C = Elliphc @ive in gboce poof b ensure Xx AL og CT
(5) QWHT‘C&S o do h_y& n=\ . Exrll-ci',* Uo«»f\( |

T:TMCQ X:Pl/ A= R+ whaeve @:i?\‘b & C-2kekR RQ,QGP’]

Z

D?gﬁ .22 Wont 4o yestrict h’UY‘Hf\{T Y dagcag varieties ¢ congider .

s N, (T,0) 2 R(r,e) := AddHomolly  O%8) ki
X @—Joo\d—ozfc:«]
g(X):\

¢« Ka(D) = {Cc— [0, 1] | k. (I, c) hon—{mp'l'ta Bor Come mér\%

Lerma 1Lt NG (Tof17) = K, (F)
[Tn parhenlar, Na(T) = N, (ToS13) = Ko (D))
PLi o Cleovly Ka(I) & N,CTuhi%)  dsue Tk, 2 M, %73
o NTS: N,(Tvu§?) & Kk.(I)

b ¢ ¢ NA(ToSth) . e 3 (xoa)e Malzusid,ed



A: A-I' B{"C

J
ed(D) \°DCCT,)

C.o%—.]
Need  to produce v, 1) ¢ k, (T.c) \‘—e»K\I,W) a-6 dim MmN,
28
Q- baoﬂ‘vf\'aj
eLy) <|

e Take a AlF r\«o&ﬁ‘/\@h&a oﬁ(X/A> b assune X Q- bacﬂvrx’al.

. I{) A, C intersect aFPUa ao%'umoh'w o« C/ow7>~ S o{ A .

(S, ®) ¢ q (Lo$2,¢) = Ce No (Tu$1] —= Ko@) 2 KT
- Trduchisn

D (D(T)) = D D)

« Ron K o+ A+B- muP . Ead with o MFS ﬁ:x—»%
= ]:B dim 2 >0 5 (au\tvaﬂ t-«lob'( CX% ) A-?,) € 'VzK(Iu{'f(/ (,)‘ Done bU indncliovs
- O dm 20, 8001 - A0 > (X, ) bl

A, C inkeseedk .

A



11.5-11.6

Wednesday, March 16, 2022 2:17 PM

Fop 1152 (let in dim nel = Nuw. friviak $hweshold in dim 1)

LCTM‘(I): N, (T)
PO e, (I) & NI

e Lt ce LCT, (T) . Then & AreM) . e (o (X,08;M)
¢ Howe done ;omdf/u'y\ﬁ cinw lar ja Globad o Locad ACC .

v Con as¢ume \V is  the Dﬂlﬂa non - k1 conter vﬁQ(,A-\-cM)

° II \V = Oom'P. 96 M, (,oo_b{) 95 V = | In A'!-CM
b\/-‘- CK\/ = \/
= C = }_-_t, C__:NnCI> IO\J Lemna H'Z/CB)

K
« O/w , take a dIf ~od- h;\/_)))( 067 (X/A+CM)Z

Kyr Traly e’ = {(Kcr Drem)
* Choote  omp - S B% T which  rmops fo V C22:) CL.{)j
. Addw\dwmn = (Gt Cs, @) ohare
<K7+ T+ QI+CM,)\ =l Kg‘\'@
C

& —
D (D A+ BHC

Gy 1 €D N ¢ D, (T)
Mk; fA/\)\]‘g_c (g/ @)9 qu—\ (Iusl’(/ Q)
By 8muw\ hx\ou Oﬁ C N, E, B s log CY .
G., ©) e (1687, )
> ce N (D) = NAI) . @

(D NA.(I) & LT, (@
e Given n- diwm voriety %ofr\?) o fxKe wone over (4.
LJQC—:N,,CT) - Howe Q(,A: id;Ai) c RMCI/C,) #01 men

Thws (X ,8) kIt @_badhomf{, 2(x) =)
q m&en dove lQH (ndm o Thas dim X

- N .



That (X,8D Kl @-badhom!(, g(x) =)
. % Mm & N , A,Ov\e blj IAAAAUG\M ﬂ"MS dU{Vl >< [

L)

COf\ g‘l’\'uﬁ/l— COV\Q C\,, r’) oy (X/ A‘) WY +' 0"“‘)!( “T K»x

- &,‘ = oM *’*,"\’ k:.c fce Nn(I)j ‘I§l'e Id— =L

v

. L N — — |
™M,

o ot b prove et C\//TT) s <

Get  vid erg ™ loa o Kg Ty rww'xb«?uﬂ oves [T, Oﬁ index M.
Ko+ T = e+ M)

Lith webﬂ(ﬁ): it K C

e Now | ((1\’/ ﬁ.b,ﬁl + C fk.‘rﬁ) = (V/ @4( M) s [ but not Bl

i BT

) ™
e Cois e Lok o (Y, 0 wart He U-disor M.
<« ce et G) . Z]

LUVII’V\OL ”_"_é)‘ '(X/A) {O(a C—y ) le ) dim n
X = Q- iO\L,H_)TfaJ
. gcx’): |

Coeff (D 2 & => A has of mosk arl components
)
How we wse Mus @ o We'll have sequente X A7) with (_o&H& (A 2§

e lomme = Con FO\SC o SU\‘DS'Q?/\}\Q/V\CQ C.+ "H'-OOW\P (A\) = OO"\C{‘%k-



P”JOE ”—I

P‘% .

11.7

Wednesday, March 16, 2022 2:17 PM

T ¢ [o,7}

C>Cc, >._.

(Xi/A\‘) 10% C\// le
Ai = B“

e D)
)

Then € e N

NN Acevoms \ation Po{njfs D‘B N“(I') = N

(T) "

n-1

st « IT=TL
« | is Hu fonbd ALL um - P{—,o"’l"

(’)l i Hua oMAI] LU - P+ UB D(T))
Gt cto cie NA(D

) projeckHve uﬁ dirm n

w1,

.

€D, (ID

@‘l’TOV\a@{ VeXSien #or flre puTposes oﬁ r"noQMdHaf\;)

Ags Wl ;‘nc

Feod © A =2 A+ B+ G B, C os belose

J

Cobm &P‘)voo\cz@\ |

Then Ce N, (E)

heswme A1z LA

oot of B, G bownded oy from 13

Let @i~ log chscreponcy (X, 4,

Cose A lim ai>0  TRougly speaking , coi o] A; aee bownded oy from |]

gﬁle‘;l  Reduea 4o

A; eve n\—ua[ha 2060 log disceep (A;) — O

X, @"Bod-oﬂal , Sxi)=1

(Xi a0 e (L,¢) & e Na(T) = Kk, (1)

b > (oa

Coe% (e, w@%CC,‘

,‘, Ce.r\ ASSun~e

> (X8 e b (Te)) Q- fadorial
QCX',):I
= ]—v—i drm X; < n )\7"1'\ done ,QU ‘ndmchon .

/
> Assume m=n
pass to Qubsa?- b agsune %”CDMPCB;),C_,- are t«'reﬂk
Yy bowded w0y b"&om L+ lis fne Dnl/\a OC Chor - Por’nﬂ‘og D(l),
T

~+

cpeﬂ' (B;) «&xe {T(xu)\ 2 C»Oem CCJ loo ke Uke

-\ ;
x_r4_+,+l4_c_f



Y- +, + K_C_,}
v 1§ Y
Given £ ¢ (o7, et C(4) = Some worponents at C; wih coefp

LR RALT:
G ot (G C
Leb o= sup §a [ (6, B GEEY) i le§ b e ek
hi ¢ LCT, (D) = N, (D) = N, ,(T)

Sat he= Wm h;

g'}'e—E 2 RL&A.LL!L 4o h >c

Ta tace W& C , as X B+ Cile) ic le , ¢ & h;
| N n

¢, ) I}

C Z n

= c=-he Ny, (@D <N _ (T

Shep3 ¢ Rudwee b vol (x;,87) vabounded .
Suppose vol (X, ;) bounded .
Con oTque X:/ A1) log Y. bowded = (X:,8:) bouded JWL«Y
I ’\{' OW‘P\E. c‘/Q/:‘f"'SOf ‘Hl 5.1 T;, H;n_, o~d —KX;' H'l,nﬂl bom&d
CTi 's oy CDM-P' Uﬁ A;)
Pase b o gu\ogzﬁ. od  acsune  flat M intersechien  awmwmbers ot Congt. Have:
(Kera) - R 0 2 B HY indepecded of
but C;- B it onob st uhich i a wontzed chon -
Shep 4o wol (Xi) B;) uwnbownded

Ve  unbow~ded ness of volume o Modiikd P EPWAY o PTOMCZ S'; in A("ﬂ
CD“/H -l Thae \’(/\Q‘YQ%O’\YL bﬂl\g b Case B.

Cose B ' Lim a;=o [3 coel] d Al wkidh approada [ )
Q{'ee\: Reduce 4p A4 © ) X @-l)ac,@-oﬂ'oJ | (X;/A,') kl+ ib{] LA =0
At codificion  ochieves tie atep. (need lo be @%\WB

Sl—gﬁl; Done (,b U\_\JZ« Ci interceck .
Toke (o <o &b | A.’\ PR A I\n{"QYSQ_CJ' S C VT



Sl—gﬁl; Done (,b U\_\JZ« Ci interceck .
Toke (_om? S; bﬁ LA;J whedh  Tnkevsecks C, -
(Q;,@i} & ﬂn_lCI/Ci)

GeN, (L, _Todnkion N, (1) e N, (T)

S 2. Done \'b }i= % — Z;

ic a MF& |
A, doninakes Z,
b 27 70O
(l:, @i ) = General tﬂoav y @i = Aly B.;/f C\/
Coe | = Ci 4D

Done btﬁr Tndaachion Cinte  Aim F. <N

C;/:D ) C,'/ doe S v\mi‘ ADY\MJN#Q P

)

LA, G inkeesedhs Pore by shep 2

COSQZ :

Steply © Reduce o X1, 0) kiF
Swppose  (x;, A) wot Kt o Thea [A4 o

Run Kyt O~ LA] - Mm@ wH gc_gl,s/\% Bf come ample divcor ) get le// n7)
IE C{/: o e LA(J CM\OQ C,’ inkev¢ec b 3 ghP ﬁﬁ MMP ¢ LAL]*POSil’I.vQ
Do ne b\a S“{—EP 2 \

q)c{do ) n proged with MMP f end with MES Ii
Z
G dim 20, done by Sk 2|
:l:% A 2 =0 ) R{x) =1, <o LAU P interceck o+ Done b\a S‘FZ?Z\.
;""_-Eg Redute +H (x;) =1

Run Ky + A= A - MMP ond  ossume  dim 2 =0 (ag

dim 2>0 s 51—0[)3)
gﬁ*Léi Finich (ose B

e Izg[TOVQ ; asSme 000.% (R}) aye {»yyd £ C,oa.% Cci) looK [(Ke *

Y-l + _t;—f Kc;
Y

—_—

¥ ¥

Cet G ()= Divieoy  with fe Ywe Lorp- 4 C; wiw coe,Hr



Ly Ty = Com !rﬁ wvaov\uv{'s of Ai , but make all hhe weHc \

Ti> A ecanse (X, A7) = ki eol o all ceff of A e 7]

Ciz¢C; ()

ok, A B CiCe)) s ' (as Uxp AT ERiE D i kL)

Con pocs o ¢ subsequene o  accume
(X{/T{{—R"ﬂ-C{Cc)) e e

Suppose X, Tiv B+ (i) 1 st e

Lb di= s S tele, o) ) x, TieBir Cilh) ic el be thelk

di ¢ LCT_(DIT)) = N (D) od dy —> C . .0 Ce N, ,(T) by induchm.
T Accune (X, TV EBiHC) e e

Now, Ga chow fhot  poepf Hroeslold €= §Uf%£-!l<,<{+‘l';1- B+ Gitt) P;q{@%
Con o <lown o C»O(\V‘e:r*a(]e{’o c .

Eiler e e (> - - - — C AR e = M-y (gf‘{'f ngql.r\s b o subﬁe_ﬂ)
Tr Has cate, fLFlauL C].:C{Cc;) Ta e case | veskrick b o

b Cl r’> . . T o

.\G 3 : C: intevseds T CDN:Q ¢ &G i o fP\'a

3 e G g T dfnibion fo foishe o proo] -

ed s vedocs fo Gose B) 54-0.?2.

2



